# GENERALIZED DEGENERATE HARMONIC NUMBERS AND THEIR APPLICATIONS WITH RIORDAN ARRAYS 

Ömer Duran<br>Department of Mathematics, Kocaeli University, Kocaeli, Turkey<br>omer20841@gmail.com<br>Neşe Ömür<br>Department of Mathematics, Kocaeli University, Kocaeli, Turkey<br>neseomur@gmail.com<br>Sibel Koparal<br>Department of Mathematics, Bursa Uludağ University, Bursa, Turkey<br>sibelkoparal@uludag.edu.tr

Received: 4/15/23, Accepted: 4/1/24, Published: 4/8/24


#### Abstract

In this paper, we give some identities involving degenerate harmonic numbers and some special degenerate numbers by using Riordan arrays. For example, $$
\sum_{k=1}^{n} \frac{(-1)^{k} \beta_{k, \lambda} H_{\lambda}(n, k-1, \alpha)}{k!}=\alpha H_{n+1, \lambda}(\alpha)-1 \text { for } n \geq 1
$$ and $$
\sum_{k=0}^{n}(-1)^{k} H_{n-k+1, \lambda}^{k+1}(\alpha)=\frac{(-1)^{n} D_{n, \lambda}}{\alpha^{n+1} n!} \text { for } n \geq 0
$$ where $H_{n, \lambda}(\alpha)$ are generalized degenerate harmonic numbers, $H_{n, \lambda}^{r}(\alpha)$ are generalized degenerate hyperharmonic numbers of order $r, H_{\lambda}(n, r, \alpha)$ are generalized degenerate harmonic numbers of rank $r, D_{n, \lambda}$ are degenerate Daehee numbers, and $\beta_{n, \lambda}$ are degenerate Bernoulli numbers.


## 1. Introduction

For a positive real number $\lambda$, the degenerate exponential functions ([9], [10], [11], [12], and [15]) are defined by

$$
\begin{equation*}
e_{\lambda}^{x}(t)=(1+\lambda t)^{x / \lambda}=\sum_{n=0}^{\infty}(x)_{n, \lambda} \frac{t^{n}}{n!}, \tag{1}
\end{equation*}
$$

where $(x)_{0, \lambda}=1$ and $(x)_{n, \lambda}=x(x-\lambda) \ldots(x-(n-1) \lambda)$ for $n \geq 1$. When $x=1$, it is seen that $e_{\lambda}^{1}(t)=e_{\lambda}(t)$.

Let $\log _{\lambda} t$ be the compositional inverse function of $e_{\lambda}(t)$ such that $\log _{\lambda}\left(e_{\lambda}(t)\right)=$ $e_{\lambda}\left(\log _{\lambda} t\right)=t$. The $\log _{\lambda} t$ are called the degenerate logarithm functions and are given by

$$
\begin{equation*}
\log _{\lambda} t=\frac{t^{\lambda}-1}{\lambda}=\sum_{n=1}^{\infty} \frac{\lambda^{n-1}(1)_{n, 1 / \lambda}}{n!}(t-1)^{n}=\sum_{n=1}^{\infty} \frac{1}{\lambda}\binom{\lambda}{n}(t-1)^{n} \tag{2}
\end{equation*}
$$

where

$$
\binom{x}{k}=\frac{(x)_{k}}{k!}
$$

for a non-negative integer $k$, a real number $x$, and $(x)_{n}=(x)_{n, 1}$. Note that $\lim _{\lambda \rightarrow 0} \log _{\lambda} t=\log t$ and $\lim _{\lambda \rightarrow 0} e_{\lambda}(t)=e^{t}$.

For a non-negative integer $r$, it is well known that

$$
\begin{equation*}
\frac{1}{(1-t)^{r+1}}=\sum_{n=0}^{\infty}\binom{n+r}{n} t^{n} \tag{3}
\end{equation*}
$$

Harmonic numbers and their generalizations are important in various branches of combinatorics, number theory, and there has been a lot of work involving these numbers (see [3], [4], [5], [6], [7], [16], and [24]). The harmonic numbers, denoted by $H_{n}$, are defined by

$$
H_{0}=0 \text { and } H_{n}=\sum_{k=1}^{n} \frac{1}{k} \text { for } n \geq 1
$$

For a positive real number $\alpha$, the generalized harmonic numbers of rank $r$ ([6], [20]) denoted by $H(n, r, \alpha)$, are given by

$$
H(n, r, \alpha)=\sum_{1 \leq k_{0}+k_{1}+\ldots+k_{r} \leq n} \frac{1}{k_{0} k_{1} \ldots k_{r} \alpha^{k_{0}+k_{1}+\ldots+k_{r}}} \text { for } n>r \geq 0
$$

Note that $H(n, r, \alpha)=0$ for $n \leq r$ by convention. When $\alpha=1, H(n, r, \alpha)=H(n, r)$ were introduced in ([7], [21]).

The degenerate harmonic numbers [18] are defined by

$$
H_{0, \lambda}=0 \text { and } H_{n, \lambda}=\sum_{k=1}^{n} \frac{(-1)^{k-1}}{\lambda}\binom{\lambda}{k} \text { for } n \geq 1
$$

and the generating function of these numbers is given by

$$
\frac{-\log _{\lambda}(1-t)}{1-t}=\sum_{n=1}^{\infty} H_{n, \lambda} t^{n}
$$

Note that $\lim _{\lambda \rightarrow 0} H_{n, \lambda}=H_{n}$.
In [16], Kim et al. introduced the degenerate hyperharmonic numbers, denoted by $H_{n, \lambda}^{r}$, which are given by

$$
H_{0, \lambda}^{r}=0, \quad H_{n, \lambda}^{1}=H_{n, \lambda} \text { and } H_{n, \lambda}^{r}=\sum_{k=1}^{n} H_{k, \lambda}^{r-1} \text { for } n \geq 1, r \geq 2
$$

Also, they gave the generating function of these numbers as

$$
\begin{equation*}
\frac{-\log _{\lambda}(1-t)}{(1-t)^{r}}=\sum_{n=1}^{\infty} H_{n, \lambda}^{r} t^{n} \tag{4}
\end{equation*}
$$

They investigated some properties, recurrence relations and identities involving degenerate harmonic numbers and degenerate hyperharmonic numbers. For nonnegative integers $n$ and $k$,

$$
H_{n, \lambda}^{k+1}=\frac{(-1)^{k}}{\binom{\lambda-1}{k}}\binom{n+k}{n}\left(H_{n+k, \lambda}-H_{k, \lambda}\right)
$$

For a positive real number $\alpha$, Dağlı [4] defined the generalized degenerate harmonic numbers, denoted by $H_{n, \lambda}(\alpha)$, as

$$
H_{0, \lambda}(\alpha)=0 \quad \text { and } \quad H_{n, \lambda}(\alpha)=\sum_{k=1}^{n} \frac{(-1)^{k-1}}{\lambda \alpha^{k}}\binom{\lambda}{k} \text { for } n \geq 1
$$

and the generalized degenerate hyperharmonic numbers of order $r$, denoted by $H_{n, \lambda}^{r}(\alpha)$, as

$$
H_{0, \lambda}^{r}(\alpha)=0, H_{n, \lambda}^{1}(\alpha)=H_{n, \lambda}(\alpha) \text { and } H_{n, \lambda}^{r}(\alpha)=\sum_{k=1}^{n} H_{k, \lambda}^{r-1}(\alpha) \text { for } n \geq 1, r \geq 2
$$

with $H_{n, \lambda}^{0}(\alpha)=\frac{(-1)^{n-1}}{\lambda \alpha^{n}}\binom{\lambda}{n}$. The generating functions of these numbers are

$$
\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{1-t}=\sum_{n=0}^{\infty} H_{n, \lambda}(\alpha) t^{n}
$$

and

$$
\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t)^{r}}=\sum_{n=0}^{\infty} H_{n, \lambda}^{r}(\alpha) t^{n}
$$

respectively.
The generalized degenerate harmonic numbers of rank $r$ are defined by [5]

$$
H_{\lambda}(n, r, \alpha)=\sum_{1 \leq k_{0}+k_{1}+\ldots+k_{r} \leq n} \frac{(-1)^{k_{0}+k_{1}+\cdots k_{r}+r+1}}{\lambda^{r+1} \alpha^{k_{0}+k_{1}+\ldots k_{r}}}\binom{\lambda}{k_{0}}\binom{\lambda}{k_{1}} \cdots\binom{\lambda}{k_{r}}
$$

for $n>r \geq 0$. Note that $H_{\lambda}(n, r, \alpha)=0$ for $n \leq r$ by convention. The generating function of these numbers is

$$
\begin{equation*}
\frac{\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{r+1}}{1-t}=\sum_{n=0}^{\infty} H_{\lambda}(n, r, \alpha) t^{n} \tag{5}
\end{equation*}
$$

When $\alpha=1, H_{\lambda}(n, r, 1)=H_{\lambda}(n, r)$ are called the degenerate harmonic numbers of rank $r$.

The degenerate Bernoulli polynomials $\beta_{n, \lambda}(x)$ and the degenerate Euler polynomials $\varepsilon_{n, \lambda}(x)$ are defined by

$$
\begin{equation*}
\frac{t e_{\lambda}^{x}(t)}{e_{\lambda}(t)-1}=\sum_{n=0}^{\infty} \beta_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{2 e_{\lambda}^{x}(t)}{e_{\lambda}(t)+1}=\sum_{n=0}^{\infty} \varepsilon_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

respectively ([1], [2], and [14]). When $x=0, \beta_{n, \lambda}(0)=\beta_{n, \lambda}$ are called the degenerate Bernoulli numbers, and $\varepsilon_{n, \lambda}(0)=\varepsilon_{n, \lambda}$ are called the degenerate Euler numbers.

The degenerate Stirling numbers of the first kind $S_{1, \lambda}(n, k)$ and the degenerate Stirling numbers of the second kind $S_{2, \lambda}(n, k)$ are defined by

$$
\begin{aligned}
& (x)_{n}=\sum_{k=0}^{n} S_{1, \lambda}(n, k)(x)_{k, \lambda} \text { for } n \geq 0 \\
& (x)_{n, \lambda}=\sum_{k=0}^{n} S_{2, \lambda}(n, k)(x)_{k} \text { for } n \geq 0
\end{aligned}
$$

respectively. The generating functions of these numbers are given by ([5], [8], [13], and [17])

$$
\begin{equation*}
\frac{\left(\log _{\lambda}(1+t)\right)^{k}}{k!}=\sum_{n=k}^{\infty} S_{1, \lambda}(n, k) \frac{t^{n}}{n!} \text { and } \frac{\left(e_{\lambda}(t)-1\right)^{k}}{k!}=\sum_{n=k}^{\infty} S_{2, \lambda}(n, k) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

respectively, where $k$ is a non-negative integer.
The degenerate Daehee polynomials are defined by [19]

$$
\begin{equation*}
\frac{\log _{\lambda}(1+t)}{t}(1+t)^{x}=\sum_{n=0}^{\infty} D_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

When $x=0, D_{n, \lambda}(0)=D_{n, \lambda}$ are called the degenerate Daehee numbers.
Recently, by using the concept of Riordan arrays, several identities pertaining to special numbers and binomial coefficients have been established ([23], [24]). Let
$g(t)$ and $f(t)$ be formal power series in the indeterminate, i.e., $g(t)=\sum_{n=0}^{\infty} g_{n} t^{n}$ and $f(t)=\sum_{n=0}^{\infty} f_{n} t^{n}$. A Riordan array is an infinite, lower triangular array and defined by a pair of functions $g(t)$ and $f(t)$ such that $R=(g(t), f(t))=\left[r_{n, k}\right]_{n, k \geq 0}$ with

$$
\begin{equation*}
r_{n, k}=\left[t^{n}\right] g(t)(f(t))^{k}, \tag{10}
\end{equation*}
$$

where $g(0) \neq 0, f(0)=0, f(1) \neq 0$, and $\left[t^{n}\right]$ defined by $\left[t^{n}\right] A(t)=a_{n}$ in the power series of function $A(t)=\sum_{n=0}^{\infty} a_{n} t^{n}$. An important example of Riordan arrays is the Pascal triangle, defined by $\left[\binom{n}{k}\right]_{n, k \geq 0}=\left(\frac{1}{1-t}, \frac{t}{1-t}\right)$, with the matrix

$$
\left[\binom{n}{k}\right]_{n, k \geq 0}=\left[\begin{array}{cccccc}
1 & 0 & 0 & 0 & 0 & \cdots  \tag{11}\\
1 & 1 & 0 & 0 & 0 & \cdots \\
1 & 2 & 1 & 0 & 0 & \cdots \\
1 & 3 & 3 & 1 & 0 & \cdots \\
1 & 4 & 6 & 4 & 1 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \ddots
\end{array}\right]
$$

Let $\mathcal{R}$ denote the set of Riordan arrays. It is known that $\langle\mathcal{R}, *\rangle$ forms a group under matrix multiplication $*$ with the identity $I=(1,1)$ [22]:

$$
\begin{equation*}
(g(t), f(t)) *(h(t), l(t))=(g(t) h(f(t)), l(f(t))) . \tag{12}
\end{equation*}
$$

Basically, the concept of Riordan arrays is used in a constructive way to find the generating function of many combinatorial sums. The summation property for a Riordan array $R=(g(t), f(t))=\left[r_{n, k}\right]_{n, k \geq 0}$ is

$$
\begin{equation*}
\sum_{k=0}^{n} r_{n, k} h_{k}=\left[t^{n}\right] g(t) h(f(t)) \tag{13}
\end{equation*}
$$

where $h(t)=\sum_{n=0}^{\infty} h_{n} t^{n}$.

## 2. Some Identities Using Riordan Arrays

In this section, we will give some identities using properties of Riordan arrays and generating functions. Some Riordan arrays for families of generalized degenerate harmonic numbers can be given as follows:

$$
\begin{gather*}
{\left[H_{n-k+1, \lambda}(\alpha)\right]_{n, k}=\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t}, t\right)}  \tag{14}\\
{\left[H_{n-k+1, \lambda}^{k+1}(\alpha)\right]_{n, k}=\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t}, \frac{t}{1-t}\right)} \tag{15}
\end{gather*}
$$

and

$$
\begin{equation*}
\left[H_{\lambda}(n+1, k, \alpha)\right]_{n, k}=\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t},-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right) \tag{16}
\end{equation*}
$$

Theorem 1. For a non-negative integer n, we have

$$
\sum_{k=0}^{n}(-1)^{k} H_{n-k+1, \lambda}^{k+1}(\alpha)=\frac{(-1)^{n} D_{n, \lambda}}{\alpha^{n+1} n!}
$$

and for a non-negative integer $r$,

$$
\sum_{k=0}^{n}\binom{k+r}{r} H_{n-k+1, \lambda}(\alpha)=H_{n+1, \lambda}^{r+2}(\alpha)
$$

Proof. For the first identity, taking the Riordan array (15) and $h(t)=\frac{1}{1+t}$ in Equation (13), by Equations (5) and (9), we have

$$
\begin{aligned}
\sum_{k=0}^{n}(-1)^{k} H_{n-k+1, \lambda}^{k+1}(\alpha) & =\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t} \frac{1}{1+\frac{t}{1-t}}=\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{t} \\
& =\left[t^{n}\right] \sum_{n=0}^{\infty} \frac{(-1)^{n} D_{n, \lambda}}{\alpha^{n+1} n!} t^{n}=\frac{(-1)^{n} D_{n, \lambda}}{\alpha^{n+1} n!} .
\end{aligned}
$$

So, we have the first identity. Similarly, using the Riordan array (14) and taking $h(t)=\frac{1}{(1-t)^{r+1}}$ in Equation (13), by Equation (4), the desired result is obtained.
Theorem 2. For a positive integer n, we have

$$
\sum_{k=0}^{n}(-1)^{k+1}\binom{n}{k} H_{k, \lambda}=\frac{1}{\lambda}\binom{n+\lambda-1}{n}
$$

Proof. By choosing Riordan array $R=\left(\frac{-1}{1-t}, \frac{-t}{1-t}\right)=\left[(-1)^{k+1}\binom{n}{k}\right]_{n, k}$ and $h(t)=$ $\frac{-\log _{\lambda}(1-t)}{1-t}$ in Equation (13), using Equations (2) and (3), we have

$$
\begin{aligned}
\sum_{k=0}^{n}(-1)^{k+1}\binom{n}{k} H_{k, \lambda} & =\left[t^{n}\right] \frac{-1}{1-t} \frac{-\log _{\lambda}\left(1+\frac{t}{1-t}\right)}{1+\frac{t}{1-t}}=\left[t^{n}\right] \frac{\left(\frac{1}{1-t}\right)^{\lambda}-1}{\lambda} \\
& =\frac{1}{\lambda}\left[t^{n}\right]\left(\sum_{n=0}^{\infty}\binom{n+\lambda-1}{n} t^{n}-1\right) \\
& =\frac{1}{\lambda}\left[t^{n}\right] \sum_{n=1}^{\infty}\binom{n+\lambda-1}{n} t^{n} \\
& =\frac{1}{\lambda}\binom{n+\lambda-1}{n}
\end{aligned}
$$

for $n \geq 1$. So, the proof is complete.

Theorem 3. For a non-negative integer n, we have

$$
\sum_{k=0}^{n} \frac{(-1)^{k}(1)_{k, \lambda}}{k!} H_{\lambda}(n+1, k, \alpha)=H_{n+1, \lambda}(\alpha)-\frac{H_{n, \lambda}(\alpha)}{\alpha}
$$

Proof. Taking the Riordan array (16) and $h(t)=e_{\lambda}(-t)$ in Equation (13), by Equations (1) and (5), we have

$$
\begin{aligned}
\sum_{k=0}^{n} H_{\lambda}(n+1, k, \alpha) \frac{(-1)^{k}(1)_{k, \lambda}}{k!} & =\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t}\left(1-\frac{t}{\alpha}\right) \\
& =\left[t^{n+1}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{1-t}-\frac{1}{\alpha}\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{1-t} \\
& =H_{n+1, \lambda}(\alpha)-\frac{H_{n, \lambda}(\alpha)}{\alpha}
\end{aligned}
$$

for $n \geq 0$. So, the proof is complete.
Theorem 4. For non-negative integers $n$ and $r$, we have

$$
\sum_{k=0}^{n} H_{\lambda}(k, r+1, \alpha)=\sum_{k=0}^{n} H_{n-k, \lambda}(\alpha) H_{\lambda}(k, r, \alpha)
$$

Proof. Taking the Riordan array $\left[r_{n, k}\right]_{n, k \geq 0}=\left(\frac{1}{1-t}, t\right)$, which means $r_{n, k}=1$, when $n \geq k$ and $h(t)=\frac{\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{r+2}}{1-t}$ in Equation (13), we have

$$
\begin{aligned}
\sum_{k=0}^{n} H_{\lambda}(k, r+1, \alpha) & =\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{1-t} \frac{\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{r+1}}{1-t} \\
& =\left[t^{n}\right] \sum_{n=0}^{\infty} H_{n, \lambda}(\alpha) t^{n} \sum_{n=0}^{\infty} H_{\lambda}(n, r, \alpha) t^{n} \\
& =\sum_{k=0}^{n} H_{n-k, \lambda}(\alpha) H_{\lambda}(k, r, \alpha)
\end{aligned}
$$

as claimed.
Theorem 5. For a non-negative integer n, we have

$$
\sum_{k=0}^{n} \frac{(-1)^{k}(1)_{k+1, \lambda}}{(k+1)!} H_{\lambda}(n+1, k, \alpha)=\frac{1}{\alpha}
$$

Proof. Taking the Riordan array (16) and

$$
h(t)=\frac{1-e_{\lambda}(-t)}{t}=\sum_{n=0}^{\infty} \frac{(-1)^{n}(1)_{n+1, \lambda} t^{n}}{(n+1)!}
$$

in Equation (13), we have

$$
\begin{aligned}
\sum_{k=0}^{n} \frac{(-1)^{k}(1)_{k+1, \lambda}}{(k+1)!} H_{\lambda}(n+1, k, \alpha) & =\left[t^{n}\right] \frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t} h\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right) \\
& =\left[t^{n}\right] \frac{1}{1-t} \frac{1}{\alpha} \\
& =\frac{1}{\alpha}
\end{aligned}
$$

So, the proof is complete.
Theorem 6. For non-negative integers $n$ and $r$, we have

$$
\sum_{k=r}^{n} \frac{(-1)^{n-k}}{\lambda \alpha^{n-k+1}}\binom{\lambda}{n-k+1}\binom{k}{r}=H_{n-r+1, \lambda}^{r+1}(\alpha)
$$

Proof. By Equation (12), we write

$$
\begin{equation*}
\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{(1-t) t}, \frac{t}{1-t}\right)=\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{t}, t\right) *\left(\frac{1}{1-t}, \frac{t}{1-t}\right) \tag{17}
\end{equation*}
$$

By Equations (2) and (10), we have

$$
\left[\frac{(-1)^{n-k}}{\lambda \alpha^{n-k+1}}\binom{\lambda}{n-k+1}\right]_{n, k}=\left(\frac{-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{t}, t\right)
$$

and from Matrix (11) and Equation (17), we write

$$
\left[H_{n-k+1, \lambda}^{k+1}(\alpha)\right]_{n, k}=\left[\frac{(-1)^{n-k}}{\lambda \alpha^{n-k+1}}\binom{\lambda}{n-k+1}\right]_{n, k}\left[\binom{n}{k}\right]_{n, k}
$$

which completes the proof by using matrix multiplication.

## 3. Some Identities Involving $H_{\lambda}(n, r, \alpha)$

Let $\theta_{n}$ be any sequence, and its generating function be $\Theta(t)=\sum_{n=0}^{\infty} \theta_{n} t^{n}$. Since $H_{\lambda}(n, r, \alpha)=0$ when $n \leq r$, we can write

$$
\begin{align*}
\sum_{r=1}^{n} \theta_{r} H_{\lambda}(n, r-1, \alpha) & =\sum_{r=1}^{\infty} \theta_{r} H_{\lambda}(n, r-1, \alpha)=\sum_{r=1}^{\infty} \theta_{r}\left[t^{n}\right] \frac{\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{r}}{1-t} \\
& =\left[t^{n}\right] \frac{\Theta\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)-\theta_{0}}{1-t} \tag{18}
\end{align*}
$$

According to this scheme, we give some identities involving $H_{\lambda}(n, r, \alpha)$ with the following theorems.

Theorem 7. Let n be a positive integer. Then

$$
\sum_{k=1}^{n} \frac{(1)_{k, \lambda}}{k!} H_{\lambda}(n, k-1, \alpha)=\sum_{k=1}^{n} \sum_{i=1}^{k} \frac{(-1)^{k+i}(1)_{i, \lambda} S_{1, \lambda}(k, i)}{\alpha^{k} k!}
$$

Proof. Let $\theta_{k}=\frac{(1)_{k, \lambda}}{k!}$, that is, $\Theta(t)=e_{\lambda}(t)$ in Equation (18). Using the binomial theorem, Equations (1) and (8), we have

$$
\begin{aligned}
e_{\lambda}\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)-\theta_{0} & =\left(1-\lambda \log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{1 / \lambda}-1 \\
& =\sum_{i=1}^{\infty}(-1)^{i}\binom{1 / \lambda}{i} \lambda^{i}\left(\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)^{i} \\
& =\sum_{i=1}^{\infty}(-1)^{i}(1)_{i, \lambda} \sum_{n=i}^{\infty} \frac{(-1)^{n} S_{1, \lambda}(n, i)}{\alpha^{n} n!} t^{n} \\
& =\sum_{n=1}^{\infty} \sum_{i=1}^{n} \frac{(-1)^{n+i}(1)_{i, \lambda} S_{1, \lambda}(n, i)}{\alpha^{n} n!} t^{n}
\end{aligned}
$$

Then by Equation (18), we get

$$
\begin{aligned}
\sum_{k=0}^{n} \frac{(1)_{k, \lambda}}{k!} H_{\lambda}(n, k-1, \alpha) & =\left[t^{n}\right] \frac{1}{1-t} e_{\lambda}\left(-\log _{\lambda}\left(1-\frac{t}{\alpha}\right)-1\right) \\
& =\left[t^{n}\right]\left(\sum_{n=0}^{\infty} t^{n}\right)\left(\sum_{n=1}^{\infty} \sum_{i=1}^{n} \frac{(-1)^{n+i}(1)_{i, \lambda} S_{1, \lambda}(n, i)}{\alpha^{n} n!} t^{n}\right) \\
& =\sum_{k=1}^{n} \sum_{i=1}^{k} \frac{(-1)^{k+i}(1)_{i, \lambda} S_{1, \lambda}(k, i)}{\alpha^{k} k!}
\end{aligned}
$$

So, we have the proof.
Theorem 8. Let $n$ be a positive integer. Then

$$
\sum_{k=1}^{n} \frac{(-1)^{k} \beta_{k, \lambda} H_{\lambda}(n, k-1, \alpha)}{k!}=\alpha H_{n+1, \lambda}(\alpha)-1
$$

and

$$
\sum_{k=1}^{n} \frac{(-1)^{k+1} \varepsilon_{k, \lambda}}{k!} H_{\lambda}(n, k-1, \alpha)=\frac{(2 \alpha)^{-n}-1}{2 \alpha-1}, \quad(\alpha \neq 1 / 2)
$$

Proof. For the first identity, let $\Theta(t)=\frac{-t}{e_{\lambda}(-t)-1}=\sum_{k=0}^{\infty} \frac{(-1)^{k} \beta_{k, \lambda}}{k!} t^{k}$ in Equation
(18). By Equation (6), we have

$$
\begin{aligned}
\sum_{k=1}^{n} \frac{(-1)^{k} \beta_{k, \lambda} H_{\lambda}(n, k-1, \alpha)}{k!} & =\left[t^{n}\right] \frac{1}{1-t}\left(\frac{\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{e_{\lambda}\left(\log _{\lambda}\left(1-\frac{t}{\alpha}\right)\right)-1}-1\right) \\
& =\left[t^{n}\right] \frac{\log _{\lambda}\left(1-\frac{t}{\alpha}\right)}{1-t} \frac{-\alpha}{t}-\left[t^{n}\right] \frac{1}{1-t} \\
& =\alpha H_{n+1, \lambda}(\alpha)-1
\end{aligned}
$$

For the second identity, let $\Theta(t)=\frac{2}{e_{\lambda}(-t)+1}=\sum_{k=0}^{\infty} \frac{(-1)^{k} \varepsilon_{k, \lambda}}{k!} t^{k}$ in Equation (18). In a similar way, by Equation (7), for $\alpha \neq 1 / 2$, we get

$$
\begin{aligned}
\sum_{k=1}^{n} \frac{(-1)^{k+1} \varepsilon_{k, \lambda} H_{\lambda}(n, k-1, \alpha)}{k!} & =-\left[t^{n}\right] \frac{1}{1-t}\left(\frac{2}{2-\frac{t}{\alpha}}-1\right) \\
& =-\left[t^{n}\right] \sum_{n=0}^{\infty} t^{n} \sum_{n=1}^{\infty} \frac{1}{2^{n} \alpha^{n}} t^{n} \\
& =-\sum_{k=1}^{n} \frac{1}{2^{k} \alpha^{k}} \\
& =\frac{(2 \alpha)^{-n}-1}{2 \alpha-1}
\end{aligned}
$$

as claimed. So, the proof is complete.
Theorem 9. Let $n$ and $m$ be positive integers such that $n \geq m$. Then we have

$$
\sum_{k=m}^{n} \frac{(-1)^{k} S_{2, \lambda}(k, m) H_{\lambda}(n, k-1, \alpha)}{k!}=\frac{(-1)^{m}}{m!\alpha^{m}}
$$

Proof. Let $\Theta(t)=\frac{\left(e_{\lambda}(-t)-1\right)^{m}}{m!}$. By the fact that $S_{2, \lambda}(n, m)=0$ when $n<m$ and Equation (18), we have

$$
\begin{aligned}
\sum_{k=m}^{n} \frac{(-1)^{k} S_{2, \lambda}(k, m) H_{\lambda}(n, k-1, \alpha)}{k!} & =\left[t^{n}\right] \frac{1}{1-t} \frac{\left(-\frac{t}{\alpha}\right)^{m}}{m!} \\
& =\frac{(-1)^{m}}{m!\alpha^{m}}\left[t^{n-m}\right] \frac{1}{1-t} \\
& =\frac{(-1)^{m}}{m!\alpha^{m}}
\end{aligned}
$$

Hence, the proof is complete.

## References

[1] L. Carlitz, A degenerate Staudt-Clausen theorem, Arch. Math. (Basel) 7 (1) (1956), 28-33.
[2] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Util. Math. 15 (1979), 51-88.
[3] G. S. Cheon and M. E. A. El-Mikkawy, Generalized harmonic numbers with Riordan arrays, J. Number Theory 128 (2008), 413-425.
[4] M. C. Dağlı, A new generalization of hyperharmonic numbers, Ann. Polon. Math. 129 (2022), 17-24.
[5] Ö. Duran, N. Ömür and S. Koparal, On generalized degenerate harmonic numbers, in submitted.
[6] Ö. Duran, N. Ömür and S. Koparal, On sums with generalized harmonic, hyperharmonic and special numbers, Miskolc Math. Notes 21 (2) (2020), 791-803.
[7] A. Gertsch, Generalized harmonic numbers, C. R. Acad. Sci. Paris 324 (1) (1997), 7-10.
[8] D. S. Kim, and T. Kim, A note on a new type of degenerate Bernoulli numbers, Russ. J. Math. Phys. 27 (2020), 227-235.
[9] T. Kim, A note on degenerate Stirling polynomials of the second kind, Proc. Jangjeon Math. Soc. 20 (3) (2017), 319-331.
[10] T. Kim and D. S. Kim, A note on central Bell numbers and polynomials, Russ. J. Math. Phys. 27 (1) (2020), 76-81.
[11] T. Kim and D. S. Kim, Combinatorial identities involving degenerate harmonic and hyperharmonic numbers, Adv. in Appl. Math. 148 (2023), Paper no. 102535, 15pp.
[12] T. Kim and D. S. Kim, Degenerate Laplace transform and degenerate gamma function, Russ. J. Math. Phys. 24 (2) (2017), 241-248.
[13] T. Kim and D. S. Kim, Degenerate r-associated Stirling Numbers, preprint, arXiv:2206.10194v1.
[14] T. Kim and D. S. Kim, Identities involving degenerate Euler numbers and polynomials arising from non-linear differential equations, J. Nonlinear Sci. Appl. 9 (5) (2016), 2086-2098.
[15] T. Kim and D. S. Kim, Some identities of extended degenerate r-central Bell polynomials arising from umbral calculus, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 114 (1) (2020), 1-19.
[16] T. Kim and D. S. Kim, Some identities on degenerate hyperharmonic numbers, Georgian Math. J. 30 (2) (2023), 255-262.
[17] T. Kim and D. S. Kim, Some identities on truncated polynomials associated with degenerate Bell polynomials, Russ. J. Math. Phys. 28 (3) (2021), 342-355.
[18] T. Kim, and D. S. Kim, On some degenerate differential and degenerate difference operators, Russ. J. Math. Phys. 29 (1) (2022), 37-46.
[19] T. Kim, D. S. Kim, H. Y. Kim, and J. Kwon, Some results on degenerate Daehee and Bernoulli numbers and polynomials, Adv. Differ. Equ. 2020 (1) (2020), 1-13.
[20] S. Koparal, N. Ömür, and Ö. Duran, On identities involving generalized harmonic, hyperharmonic and special numbers with Riordan arrays, Spec. Matrices 9 (1) (2021), 22-30.
[21] J. M. Santmyer, A Stirling like sequence of rational numbers, Discrete Math. 171 (1997), 229-235.
[22] L. W. Shapiro, S. Getu, W. J. Woan, and L. Woodson, The Riordan group, Discrete Appl. Math. 34 (1991), 229-239.
[23] W. Wang, Riordan arrays and harmonic number identities, Comput. Math. Appl. 60 (2010), 1494-1509.
[24] S. W. Wuyungaowa, Sums of involving the harmonic numbers and the binomial coefficients, Amer. J. Comput. Math. 5 (2015), 96-105.

